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General Instructions :

(i) All questions are compulsory. -
(ii) The question paper consists of 31 questions divided into five sections A, I, C, D and

E. Section-A comprises of 4 questions of 1 mark cach, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-1? comprises of 10 questions of 4 marks each, Section E comprises of two
questions of 3 marks cach and 1 question of 4 marks from Open Text theme.

(i)  There is no overall choice.

(iv)  Use of calculator 1s not permitted.
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/Daﬁ.'tiﬂn numbers 1 to 4 carry one mark each.
ampfa #, fig D, E 30 F 599 TF AABC ®1EET AC, AB 3 BC F ma-fag 13 AB=4.2

cm, BC=5.6 cm 3 AC=23.6 cm &, T ADEF =1 9fwm 3m mifen )
In the figure, points D, E and F are the mid-points of the sides AC, AB and BC of a AABC. If
AB=4.2cm, BC=5.6 cm and AC =3.6 cm, then find the perimeter of ADEF.
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The edge of a salid cube Is 6 cm. How many cubes of 2 cm edge can be formed from this cube
Find the mean of first 5 composite numbers.
& o - 1
/"‘ﬁq‘@' T A A 57 s oRex 20 %) SHS F1 AT WA T4 Hiw )

The maximum valye of the data is 57 and range is 20. Find the minimum value of the data.
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Question numbers 5 (o 10 carry two marks each,
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R CD W a4 ¥1 4 2POQ=120°%, d ~APQ 7 HIRT

In the given figure, AB and CD are two equal chords of a circle with centre O OP and OQ are
p@rpendiguiars on chords AB and CD respectively. If ZPOQ =1 20°, find ZAPQ.

2
/
%\_//
,(-;./ HITATTF T WEIA A 52° 1 EIV FAE0 | TR w1 T ¥, 78 4w v H faafe w2
sing protractor, draw an angle of 52°. Using compass, divide this angle into two equal parts.
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In the figure, PQFLS is a parallelogram. Find the values of x and y.
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A rectangular piece of paper is 22 em long and 10 cm wide- Ny ormed by rolling
the paper along its length. Find the volume of the cylinder.
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A box contains 50 bolts and 150 nuts, On checking the box, it was found that half of the bolts
and half of the nuts are rusted. If nr1m jtem is chosen at random, find the probability that it is

rusted,
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1500 families with 2 children were surveved and _th_Dr tollowing data were recorded :

Number of girls inafamily |0 11 12 ‘

Number of families [ 211 | Bl14 |475 ‘

If a family is chosen at random, compute the probability that it has :

'/[i.)f‘ Exactly 1 girl _A7 Nogirl
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Question numbers 11 to 18 carrv three marks each.
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Mean of 25 observations was found to be 78.4. But later it was discoverad that 98 was misread
as 69. Find the correct mean.
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i i is drawn
In figure, D and F gre points on side AE of AABE. Th(r:ougi': a;;omt D Da; ‘lme DC r
is parallel to AB and meets BE in C. Prove that ar (AA F) =ar (BCF
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In the given figure, ~ BEC=120°
ZBFC and #BOC.
A

and ZACD=20" If O is the centre of the circle, find ZBAC,
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Draw a line segment SR of length 10 cm. Divide

itinto 4 equal parts, using compass and ruler,
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In a parallelogram ABCD, AB=12 cm and AD=8 em. The bisector of ZA meets DCat P. AP Y
and BC are produced to meet at Q as shown in the figure. Find the length of CQ.
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7% ar (PQRS) = 24 cm?%, W ar (SYQX) T HI1C!
PQRS is a parallelogram. X and Y are mid - points of sides PQ and SR respectively and PS

XY&QR If ar (PQRS} is 24 cm?, find ar (SYQX)-
R

P X Q
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If the surface area of a sphere is 346.5 cm?, calculate its radius and the volume.
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Question numbers 19 to 28 carry four marks each.
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!"md the mean and mode of followi wing, data :
x [50 [60 170 |80 [90 [100 [110 120
/L 10 |18 |15 [20 [8 e |12 (40
ABCDWW\H | DC &1 spEnai AD 3R BC % qe-feg wEe: X AR Y T

CD =30 cm 3T AB =50 cm @, @ 030 f& ar(DCYX) = ? ar(XYBA) T 1

ABCD is a trapezium with AB||DC. X and Y are mid-points of sides AD and BC respectivel
k73

CD=30cmand AB =50 cm, show thatar(DCYX) = ‘a ar(XYBA)
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In the given ﬁgum, AB and CD are two chords of a circle, with centre O, intersecting --.;

5““*3“512% by arc DYB at the centre). /H
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Construct  ALXY, if base angles /X=60°, Y=105° and its perimeter

is .
11cm.
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In the figure, ABCD is a trapezium with AB||CD, AB=a units and CD=b units. E is the

mid — point of AD. Through E, EF is drawn parallel to AB intersecting BC at F. Find the length 4
of EF. ks !
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res of water per head per day, Dye tq

A village having a population of 4000 requires 150 lit £2000 cmx15m x 16 m

lack of sources of water, they collect the water into a tank measurin

from a river using a long pipe.
(a) Find for how many days will the water of this tank last ?

(b) Which message is conveyed by the people of village 7
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The length, breadth and height of a room are 5m, 4 m;nd;fm “‘-"‘Pi’;‘;“\’k‘}}'. Find the total
cost of white washing the ceiling at the rate of T12 per m= and four walls at the rate of ¥10 per

m2
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The height and the base diameter of conical tombare 24 mand 14 m respectively. Find the
cost of white washing its curved surface at the rate of Rs. 210 per
100 sq m. Also find volume of air inside the tomb.
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The sum of radius of the base and height of a solid cylinder is 37 m. If the total surface area of
the cylinder is 1628 m?, find the curved surface area and volume of the cylinder.
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A box contains some balls whose total weight is 40 kg, There are 10 balls of weight 1 kg each,

5 balls each of weight 2 kg, 5 balls cach of weight 2.5 kg and rest of the balls weight 1.5 kg

each. A ball is drawn at random from the box, find the probability that the ball weight of the

drawn ball is

'/&Y)/’ 2.5 kg. !
b neither 2.5 kg nor 1 kg. O
/(;,,\/n;t 15kg. ‘%
=%
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(* Please ensure that open text of the given theme is supplied with this question paper.)
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Theme : Childhood Obesity in India
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i i ion between total
itv. [stablish a linear equation
lf"-r?frl;szl?e same find the number of children who are
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Around 20% of children show signs ¢

children and children who are obese.
obese if total children are 500.
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across its calorie value, She refors to the table in
: wonders that she has to
for x minutes and dance

5'-‘}'_”' 1ya eals 2 slices of pizza and then comes
which the calorie value for junk food items has been mentioned. She
cycle for three hours to burn down her calories. She decided to cycle
for y minutes to burn these calories. Write a linear equation for the same.
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(a) a 3w

(b) a3Mh

[t is stated that
"Children from age one onwards grows taller and heavier till they react
aboul 2 kg  every year for weipht and

1 adolescence al a

=

whopping rate of
3 inches for height".
Assuming weight as variable 'w', height as 'h" and "a" as age in years and at the age of 1 year
weight is 6 kg and height is 28 inches, establish a linear relationship between :

/(a‘))’b and w
Md h
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